‘ST ST BT frefafea § @ 6.
Toreeh gm0 washa 1 o id oft 7

(A) whEm (B) ®mng

(©) (D)

The “Prayaga Prashasti” had been
composed by whom among the
following in Sanskrit ?

%Ag Harishena &B% Banabhatta
C) Bhavabhuti (D) Baudhayana

Prfan 3 @ 2 @ v ¥ o e
REERTH TR TR AFRAR 7
JA) FrerE  (B) TR A Ol
(C) @R ¥ Fw (D) w3
Which of the following is the larges

water lagoon lake situated at the Ei
coast of India ?

A) The Kolleru Lake

B) The Panchbhadra Salt L3

C) The Lonar Crater Lake:

D) The Chilika Lake

vq ey ferae 11 & e
(A) W= (B)
(&) (D
The white li%ht is &
many colours ?

(A) Five

(C) Seven

Iz s T '
wfREe? |
(A e %
(C) IRE
The Great Bg
coast of whick
(A; South £
(C) Austral
Preferfen 35
U™ a9 S
(A) URER FoeTHs

(B) SATEATE HE®

(© o #.3m waeh
D) E. g yEe "
Who among the following
President of the Constituent Asser
India in 1946 ?

A) Sardar Vallabhbhai Patel
B) Jawaharlal Nehru

C) Dr.B.R. Ambedkar

D) Dr. Rajendra Prasad

AANPIKTH WV O\ POUTATETA AN PINDATI Y F90 WSEO

FK-3

o

H Y AT T

3 form 7oL
B ARETE T
AA) i
©)

’
:




10. “gamavay” Rofafes § @ B daw
* wifkfe wfa g ¢
(A) weEm
(B) wrfy
e werwy Fifeey
(D) =EwE

“Kumarasambhavam” is the literas
work of which of the following wri

(A) Kalhan

(B) Bharavi

(C) Mahakavi Kalidasa

(D) Mahadevi

11. ‘

) 23 adE
(©) 73
“World Boo
which of the fa
(A) 23" Ag
(C) 7th A

- -
-""'.

a5
womed

27
(A)
(©)




. fatefas o il #q @ dww e (21
mmmmmmaa

fo e IR T
(A) FETH (B) e

() =™ ) feass
Which of the following social media

platforms is best suited for profcssmnal
nctworkmg and job hunxmg

(A) Facebook (B)
N (€) nkedm

18, mmimmma
wtfsm;zﬁt?

RCczonl

(C) wd
’wﬂ@lﬁlﬁltm
Bhadohnhat is located in
famous for which of > |
(A) Carpet weaving
(B) Chikankari
(C) Saree \weav ng
(D) Glazed pottet

. Profafas 3 3 9
w|RT
A) e
(C) &+
Which of the
of Uttar Prag
(A) Ashol
(C) Oakg
mm<
g' mf
(A) S
©
Surh
2150 \

Si ~?
Jocated
districts

(A) bBa
(B) Eral
(C) Gond®
(D) Sant K

Pl L o i AL




28,

e w291 T wfwen, 2006 & AN WE |29,
iy A U Ug, AEAEY ] AaA % a
uifen sty we 1 et § & w0 &
St 7

AM) £ l{fﬂ (Holding)
(B) ®mgfH (Grove Land)

(€) ‘{\ﬁ 1y (Agricultural Land)

(D) waf%a (Consolidated)

A parcel of land held under one tenure Of
one lease, engagement or grant is know
as which of the following according 18
Uttar Pradesh Revenue Code, 2006 7

(A) Holding

(B) Grove Land

(C) Agricultural Land

(D) Consolidated

26, FHUECETE (UPSSF) %1 T AH S
) IR e (i
B) I e wifere frefedly
(C) I e s el
(D) I e wrer 6t I

B %ﬁﬁivcfullfomofUPSSF.

(

28.

(A) Utar Pradesh Special
(B) Uttar Pradesh Solidi
(C) Uttar Pradesh Social
(D) Uttar Pradesh Socl

ﬁ'&m fira W 1]
frafefara # @ fre TR

AAY IR

(€) T (
Nivesh Mitra Mobil
initiative of which of
of India ? |
(A) Uttar Pradesh @
(C) Gujarat :
oo w1 Fraferting
FrAT IR ?
&) T (B)
(C) Hoed (D) .
Dcnmnclisulion 15 also known "B
of the following names ?
(A) New Currency (B)  No Currency
(C) Cashless (D) Note Ban




3. P 3 29 @ T 3, g L )
} B H T FEEd IR |35 S

oY ICH HAAE H I A AR HWWWW LT
et s e e & fer it 7 m?f&jgﬁ(x_l,l-g()r-c.magam R 1
e ¢ (' AEEE  (B) ;23?7“3
‘ Cy & va. sage (D) A T
) mw (Wi)m among  the following
(B) TR TR inaugurated Kochi-Lakshadweeg
Q) A TEHR Submarine Optical Fiber
) (Kl.l-SOFC)rcccntly ?
(DY T e T (A) Shri Narendra Mg
Which of the following awards is given {E; IS)};r‘SA?z‘a::h A
1o motivate Cooperative and Milk (D) Shri Rajnatil
producer Companies to grow and to s, Fdm bR
instill competitive spirit 7 2 i il
(A) Dronacharya Award frefer ,~
(B) Dhyanchand Award | '{G ;
(C) Arjuna Award \LA )
(D) National Gopal Ratna Award (€
33, Prefufes # & B 11 HE0TE 99, T
HfemR ?

34, ze A A, o g mz A v

FK-3

(A) SN FEEE
) RGN AR qaUTE
(C) TR HEOTE

(D) ige! qeUTE (§Aeard @

Which of the following ports 18

in Kuchchh, Gujarat 7

(A) Mormugao Port J

(B) , The Jawaharlal Nehru Pg
Paradwip Port -

(D) Kandla Port (Deendayal’¥

frg ™ W ATAA BTG

Feter 7% 351 (NCDFI) % &
e Wi 2 7

(A) TR (B) #TE®

(C) A (D) Fig

Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of
National Cooperative Dairy Federation
(‘ﬁ' India (NCDFI) at which of " the founder of thk SR AN SANE ey
fol!‘lmvmg places ? (A)“ t\ll:)h ‘f-i PR BT
(A) Gandhinagar (B) Bengalu B) Maulag
(C) Jaipur (D) Anand Sl

v e

(€ :
Who among




9. Pefeferidmmmmm et

iy (8)
©)y wifa (D) =y
40. Trafefes & 2 ey R § ot o=
e § 7
(A) ZB,7%  (B) &, @
() wem,fen (D) FER, TN
41, S ol ‘o v Prefafes | 8
o vz % v & 7
(A) (B) I
€) F= (DY~ 3984
2. ‘I oE f A R @ T E
foru v v Prefafea da s @R 7
(A) (B) =
(€ (D) M
43, Fom Tamen 1 wee g -firrds & 7@
sz R 7
(A) fm-fm =w-I®
wonge - wifer = 9 - fE
(C) # - am = 71 - &

(D) YA -TEa = T I - 20
4. Fofafea i a fen Rem A geama e 7

(A) T ST Hl 5 ged ¥ |

(B) <8 % I e e d |

(€) ¥ —zdal ) AR e A f |

\(Dy- 7§ AT i 231 H{ St R |

45, Frefafea 3 & e v & 997 ST :

(B) HfeH

(D) wudiar

46. Trefafes 3 8 fea w2 & v Thaed
FRaR 7
(A) TEE (B) %I
Oy | (D) s

47, R $va | T w0 | WEitea v § W W
Cac
(A) FHH®
(C) = &

NP AT A VA

(C) HSam=

(B) ®YEH ®WH
HE

PP EACTIVE #IA wg N TH Vs A

48. ‘Tereme B myma R ?
(a) f& AB) fawe
C) ® (D) &
Ry’ wrez B A T R 7
(A) anft By I
) # (D) 3™
iy T AR aE R 7

(A) ﬁam
(B) @™
(C) FrerdmTE JHTH

(D) oI HIE
mﬁ,mm%mtmﬁ 7

49.

sl.

%
i

s2.

it :

(A) =T+ el (BY ufex + wEE
(©) "u+¥EE (D) dfew T
saaw faes i 3 fER Tm 8 9=
27 .
(A) Igmfees (B) dow o
© wmfm () B

54, ‘vawd vz # fEW R & NS
oo w1 wEm R 2
(A) wf3fvaa g g
By EgETE e
(€) wmafeatue fasmo R

s5. ‘T 3 v @ o fereamd 1w A |
ot e 2 2 BRI

(A) eefers fFan(B) —me

2V o O, TR (O PIVEATEYS de L et

S0 i
P
D) ¥ond® B

- o

(C) wywa v

B e R L | £



56. ‘% WK W g1 R || W@ AR FH w1
yrEag |
(A) ot s

(C) wfem FdmmHE
(DY Fre vawTe /ol FanTse
T 3t Erem | ¥ AT § B 91 A

il
(A) whrE D) zmﬂ
(C) wmars (D) wHABH T
“Foret w1 TS T HETAR 1 Y WA :
(A) =8 HW FT
(B) s &1
(C) HTHH HTAT
\(P7 HIUTOOT WA T G-FGIHT HEAT
, 59. ‘wiw = faEm we R
s (A) wEH (B) ¥
\(/c)fawim (D) ==
60. “wHE WTY, W EHE A WY AR w3
PofrfEaiasa R ?
(A) e st g
(B) wreafires o B
(C) ¥ = =ga AR A
BT maaﬁmwtﬁmﬂm
61. v rmwmwm a7

s7.

(A) ¥ @ (B) wWATH ™
| ey ®) =
62. @ran fadrg st wed = A feadt ammd
e g 7
(A) 10 AB) 11
(C) 13 (D) 16
63. frfefen ¥ | frg sreeR 3 aam o &1
i # 7
(A) Vo (B) 37T
(€) INE (D) 5%
, 64. Pr=fafga 38 ‘wm' =z %1 Fwdf we
frafiwsgd ity
(A) WP (B) &

© Yen P58

Prferfyn T A TP B TN
e AT ; (7. |, 65-69)

wTeR W S-ATE B g |
TR W R | W G W T O
oo 7w & f6 Wi WAt &
Tl Ak R 3w A g af
mﬁmtmmma
mmm—niﬁmﬁﬂmm
& 4 1§ R 9 SR A % s
e e e SR S @ 7
7 3l sE $ s A feew 20
mtmgﬁiﬂﬁtﬁﬂﬁﬁ
ol el s sreern e v oft v £
¥aw W A ¥ Frfl gewl W o F
aureirs Pl wgEd # g v TE
Tedft | ZAT FuTEfuE I it wEEE

%o g e &, 5@ s A § g T
2, 7wl 7% T Jueh) wiva 3R 3= 937
# gon ft 3t  Fam I
Taa # gaTE B e @ 3 3@ 4’ T
# e @ T 2R 5 wiR |} 3 B
TR T T & I HANE I AR
sifrasgammant|
65. g ¥indw ity -
(A) ST ) ZE Eg
(B) wrdta fuftrd i g
A AC) v ffdrt w5 aEh-He
(D) WA FwH! H ggm
66. W SEw! # e o & w=ite
(A) 3 37 ey # e i vt |
(B) & et Wy % wnided = gt 39
TS W] WS- TE AH WA |
§ ot =T v il grewt @
g TE T |
(D) I g i 7wl F AR -
I T AR |

- AN AT P NS
FK-3

VEATIVM FPNPIRE AT L S0 PINGA WY PO IUTA TV S AN PWREA YT AN e A

g
‘






67. W wwisl $ daw i), 3
o i, Wi, IO % SEH! | oft # §
i~
(A) I wavr 3 wfa i T 2
B) AAFARATEE |
(C) T wifweq i W A T g1 o |

_(Dy %4 ifte # W & gl e
78 94 |
68. mmg&mmmmmw
AR A A@R ? :
(a) & !
©) (D) W
69, s wrwisit % wifte & sfa @A &
frg ol sfa Ay R ?
| (A) 3=
. (© ¥R (D) Frardt
. m;mmmm%
Agﬁ)/m (B) d'@", ™
(€) wERdfiami (D) THERUF
7. v feeeh e df 7
A a e A gHAH
(C) waEm (D). ¥aTHH
72. frafafes § § 91 o v ofesd &6 2
uir)ﬁm“ |
Tl (B)
| (€) whe (D)
| 73, frefafea # @ T #R A TER W

' fifearas frafaimo § 7

(a) fafmws  (B) PewEns
‘ (C) wara® @)«-ﬁium
74, Frofefes % 3 R R w1 wEEE

B yRPAAR ? =ik

L (A) wa uB) T

c (C) ¥R (D) &

% 75, ‘Yuay ghes-feds v w1
' - A A AR AR 7

A EeE -9 (B) W - AW
(C) wee-HEa (D) IH -

»‘-n ot <t atforra et B A Ry O

UH H& #1119 7 g o6 w 19
e 2 | 9fe 3@ 17 A Renfaa fear amg,
a1 397 9 7=/ 7

A number when divided by 119, leaves

19 as remainder. If it is divided by 17, it
will leave a remander

(A)1l B2 (O3

78, wawt; 1128+x

36x0.2

17.28 + x "

3.6x02

(A) 10 (BY12 (C)14 (D) 15
Frafafen @i 3 ywfam ()% 2
9T 91 A 7 A
What will replace the question mark (7) eV
in the followmgj lcguation ? at

5072.19 + 36 %) = 9018.
PR R Ve o o L
§c§ 3571.115 - 3578.116
2wt 13 : 9 % o 4 # | 3 s
HCF 13 2, 7t &2 s s $ife |
Two numbers are in the ratio of 13 : 9. If
their HCF is 13, then find the largest number.
(A) 52 _B) 169 (C) 117 (D) 143
: ﬁxashm‘tmm&mz:s%z;gmﬁm
a2 welw % de | ¢ 2,000 % g B 2
A 7T FIE 40 : 57 B @ R | gd H
TR A TR 7
Salaries of Rohan and Soham are in the
ratio 2 : 3. If the salary of each is increased
by ¥ 2,000, the new ratio becomes 40 : 57.
is Soham’s present salary ?
2 17,000 (B) 220,000
(C) 25500 (D) T 34,000
82. fedltegad, 204 o 0 ATAIAYHE |

1074 & siftes 317 % Bl ) S 10 T
mtpﬁiﬁé@,@ﬂ;ﬁ&_m%tl

w5t H ol ) e we e R 7
In a certain school, 20% of students are
below 10 years of age. The number of

77.

(D) 4

Simplify :

79.

%

students above 10 years of age is % of
the number of students of 10 years age

/
%,g{

\WV
S
A

2

1%, %1 94 I | which is 48. What is the total number of
A) Fdd (B) iy dects 1 N
{ L : students in the school 7
(o s (D) R (A) 80 (B)90. (&¥100 (D) 110
AL PR AP A A LY A M‘AM‘MMW O N e L TV V. AV PEEA TV P K AN pen T
o Ao gyl Nl FK-3
. ", \ 2
WShop el e sz
//0‘?‘;(' ,\WO‘QO it "%,\\ Znd 290 ¢ ||
E % 9 P4 JHDOD = 110 A +R0000



% 0 i
i A_%}“’»,@ o6 x* %63‘; %&"” /‘
“ =

-

w o U Pt fva v et R 1 (87, 4 e ol 6 egheal O BE | 6

2 i %t an & b 6 T AN 4 Tty
mmtsvﬁmwﬁmlo% BRI

6w A R | e Hew T s m«mmmw\mmh
wa Hifre | wawa d 7 ags

Anmclexuzoldatacenmpnce. By 4 boys and 6 girls can doa piece of wor,
u\lingitatsoftlmtprieeonelosee in 10 days while 6 boys and 4 girls ¢,

! . < do the same work in 8 days. In ho,,
10%. Find the gain percent at original many days can 4 boys and 2 girls o th

”

@ B) 30%
) % O) 38% ) 25/2 (B) 27/2
84, U uwi oW W3 e A (Qas D=0
LT e .
A sum of money amounts to ¥ 4,460 Hife |
after 3 years and to ¥ 6,690 after 6 years Find the 21* term of the sequence 26, 20,
) on compound interest. Find the 14s ,,,,,,,, ) )
mmm U\"
(A) R297333 (B) ¥3,12166 ), 146 S "
(€) 311533 (D) 22,991.66 © -100 (D) 88 5
85, mmP,kamm@ "/

%~ 2 A T % o R aﬁtqﬁv@ R # @ w
5 g‘ T % o R | S v A mmﬁhma%ﬁm-w,ood"mﬂ)

-,W%RWQQRWMQ The area of circular field is 13.86
Three

hectares. Find the cost of fencing it at the
tat&of(mlmmetre

@ "'-I%)Omz) B 1“’ N
X um& ®) 5,138 A..n.x
() ¥5808 (D)w.m a2

» E

90. vzsm9ﬁmmﬁnﬁr%zsmc.
1 A U FieR AeH & WRl 3R A
% fosam ww am 7 =

Howlongwmaboytaketomnm:h
square field of side 25 metres, if he runs
at the rate of 9 km/hr ? x
(A) 38 ¥Tisec,  (BY 40 ¥Tsec.

(C) 42 ¥&¥sec. (D) mm.ec

TN PR PPNEATY S

g,

‘ y ,}'L.<v e-Y



S
a3t 46y g
Se 3002 SuB Ik

juG=4b

“-‘i-9lﬁ95:mmmamﬂﬁsﬁt

Tad T T e T |
Q. Nos. 91 t0 95 : §
and answer the :

tudy the

: w;qmm' :
what was the ima
decline in the on of
2003 to 2004 ’ ‘
(A) 21% (BY23% (€) 27% (D) 29%
92. 2005 ¥R 2006 1
e % P Fqw A T

The average production of 2
average

2006 was exactly equal to

ion of which of the

pairs of years ?
(A) 2006 af¥t / and 2007
(B) 2004 3 / and 2005

J ‘?')‘(’ ,’— 48
M z (’28 3 _LQ-O'_Z__ 12 . v' ¥
LS A% 3t
96, ¥ @7 wivw g I frer ¥ e ww
il 3 day #
om,w

Choose the Venn diagram whi
. Venn which best
explains relationship among given :
Husband, Family, Wife =

w” » SO
© @O (D)

?
% W&Wmmﬁﬁmam
7 Ft zaf &, A 7 A 6 T

1 persons and C
wbatlsdwmberoﬁhosc men who are

o
*‘5(’ healthy but not old ?

Oxlw
@3x24+8+4.+2- =1
“If *+* stands for division, «4* stands for

<" stands for subtraction

WP,

multiplication, :
and‘—'smndsforaddtdon.then
63x-24+8+4+2-3-? g

(A) 58 ()61 (D) 63

99 e Pt & 2 S (X)

zdm B A |
Choosetheeoﬂectmirrorinugeoftbe
given ﬁgm()()fromamomthefom
alternatives.

Y RIS

D1 Bz 207 0

ﬂ“g‘}'p (2 -

i TR LIRS
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Hahal }
In the followt
given, followe
which cannot
of the given W'
ADMINIS

MIND
Liﬁﬂmm
S A F

101.

one
Wm?'uﬁumy placed at the
given letter series shall comp

b

ion. one word is
qu%:\:;?n'worda,‘ ctlﬂ:t of
using the letters

gredfognd that ugord.

B) STATION
3 MINISTER

3 e e H
@ TR G HM 7
letters _when
ps, iy e

by

TRATION

set of

2rQ.a0gnamanand man
nmaadn dn
Eé% mmdm:a mmdn::

] ﬁ‘glcml

Rl § @ wh fen 9 W

correct altemative from

given ones that will co lete the series.

8, 23, 38, 53, 68, (

S A) 78 '(‘55)'83 (C)85 (D) 87
@;1 : ﬂéﬁ oy : () N
(A) (B) 7
(© fast (D) G
jon : Den : : Rabbit : (7)
A) Hole &B Pit
CPMIg"movl{\lO &3 G'lI')P T l;cnch
1040 DU%% Vfaf' I-Sl? M
fc; HUR D) EU
105. 7 e g 8 7

i

D«

106.

How many triangles are there in the
following figure ?

(A)8 (B 10 (012 (Pyl4

muﬁmﬁmhﬁaﬁmt&t
mmgzmtaﬁz4ﬁaﬁmt,ﬁ=<ﬁ
mﬂsﬂt;};{zmtsﬁnofkﬁmt,ﬁn
3 el 3R e 2 FN 4 fdft e @ |

sk UL
A person moves in north direction by
9 km, then tums left and moves by 4 km,
again turns left and moves by 0 km,
again turns left and moves by 4 km. How
far the person is from initial position ?

«tA) | fEdfi/lkm (B) 4THV4 km
(€) 9FFH9km (D) 14 fadt/ 14 km
FK-3 pacepeF gulgELH

2% WY TSRGP ¢

12

WIEAS

L.

av,

)
(B)
() Faa | 3 I Fe & |
mwga g |
below consists of 2
four arguments
num y S5 IV s Yw < ¢ o
decide which of the argument(s) is/are
‘strong' argumem(sg and which is/are
‘weak® argument(s and rding
choose your answer from the alternatives
givcn below the question & | S0
tatement : Should India go in for
computerization in all possible
sectors ?
Arguments : )
L © Yes. It will bring efficiency and
accuracy in the wi
II. No. It will be an injustice to the
monumental human  resources
which are at present underutilized.
No. Computerization demands a lot
of money. We should not waste

monemn it,

Yes. When advanced countries are
introducing computers in every
field, how can India afford to lag

behind.
k¥

T

IV.

(A) Only I is strong.

B; Only 1 and 11 are strong.
C) Only I and III are strong.
D) Only 1l and III are strong.

Ve LAWY, e
- PRGNV VPSS ATIYE AN TV o S EREATIT A Al P LA T AW AT LAY SV



108, 3 o o s H T HUA SR I5E w7 |
ot 11 it 2 wromd 21 7 ¥ | s
grona 9w fEm

Fya 3N

wo ¢ ok form @ & B w6 @
o () e & sk 8/8 |
m:z7mtm%mmﬁ

regafay & |
grond : 1. 31 27 U o FRET H W

g Tgafa T |

et o | e & |

FHae tmwrn.amﬁlm |

(© T |

() FAIRAA 1 st |

In the ion below a statement
followed by two assumptions numbered |

and I1is given. You have to consider the

statement and the following assumptions
and decide which of the assumption(s)
is/are implicit in the statement.
Statement : Imprisonment for 27 years
~ made Mihir Kalal the President.

¥

(A)
wAB)

L. One who will be imprisoned for 27

. yearswill become the President.

1. To become the President

srisonment is a qualification.

ly assumption I is implicit.
-assumption I is implicit.

or ILis implicit.

or Il is implicit.

R Faftean & a8 9t 3 ot aeE
& R, fam oA
A. 390 (1) H, 3T 70% 381 F 7

! 331 0w d | i
37w (2) ¥, SfF R wfere # w9
H %7 %1 F1 F9 A B 2 G H AP
&, 1 awen sy, vl afify # e @

ek 3

frefafas y&% w93 4 w anfizan & o
o SR 2 ® | ) uirw A
aiv wal & wed A yHa favew wen @
3 e sfera wrtard o e £l | e
& 8 FrE % s &8 o T g
$ 13 W T IS 1-10-2005 F

feafiy & aram fre e E |
Q. Nos. 109 to 113 : Following are the criteria

for selection of computer professionals in an

organisation :

The candidate must -
(1) be a Computer Engineer or MCA with

first class having minimum 65% marks.
(2) have secured at least 50% marks in the

Selection Test.
(3) have secured at least 40% marks in the

Interview.
(4) not be less than 21 years and not more

than 30 years of age as on 1-10-2005.
In case of candidate who satisfies all other

criteria, except :
A. At (1) above, but is an Electronics
Engineer with 70% marks, the case may
be referred to the GM, Recruitment.
At (2) above, but is having at least
2 years' experience of working as a
Systems Analyst, the case may be
referred to the Chairman, Recruitment

Committee,
In each of the following question,

information about one candidate is given.
You have to analyse it with reference to
the above criteria and condition and then

decide the appropriate course of action.
You are not to assume anything other

than the given information. All these
cases are given to you as on 1-10-2005,

T NPT ATy A STNEATEY . *e AL Y Y AN NIREA YT AT

soft # HeT

S A e . ,ﬁ‘m
feagt) B

(3) 3 TIHITEHR 3 3 R W 40% 37 Wi e
# u‘r’ ‘
(4) Y 1-10-2005 B 21 a8 @ =0

it il & % 3ik 30

o - =13

Y
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109. m75%a’aﬁ%mmft¢ﬁamﬁm

R | 31 9 6 FETE, 1976 H §H1 1 |
SR < T H 70% 3 AR HIEIEHT
3§ 429 ¥ ST R |

(A) ot Fesfrzan w1 A e R

V;Brﬁﬁmwmm%mm

t
(C) R AT O, et affa = S
SR |
(D) uﬁmm,waﬁm‘lﬂmmt |
Sanjay is & Civil Engineer with 75%
marks. He was born on 6 July, 1976. He
scored 70% marks in the Selection Test
and 42% marks in the Interview.
(A) I1fthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
Chairman, Recruitment Committee.
(D) If the case is to be referred to the
GM, Recruitment.

110, H& 7 3 1998 # 22 T B FH H 70%

st & wry o o | IR FIEATEHR
3 559 3% 3 9o yoa # 55% 3
T F | @ 1999 3 SR & ®9 § T
smdaes o H e g AR fegar
152002ﬁmﬂqwmtmﬁﬂa=la§m
JeefreaTs %1 54 T I R |
'),_r ,ﬂﬁmwmwﬁﬁmm% |
() e, FTHeT HOAH, et afisfer =t ST

3
| MCA in 1998 with 70%
22 years. He scored
iew and 55% marks
St. He joined an IIT

mark
55% N
in the

company _
promoted S nammer and got
December 200288 \nalyst in

(A) If the candi§
(B) Ifthe candidd :
(C) If the cas¢ is 10 He ¢
Chairman, Recruliiiee
(D) If the case is 10 DEM .
GM, Recruitment: S8

4

1

111,
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(D) 72 A siaw, Wl S e
Ankit scored 80% marks in B.Sc. (IT)
and 78% marks in Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of
birth is 19® April, 1980.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) If the case is to be referred to the

GM, Recruitment.

Ry, T S TR, 2003 H 22 3
ﬁmﬁaif?mwﬂmﬁvz%aiﬁ%m
IOl B3 | S =Tl # 70% 3
P TTETERTC R 48% o W R |

AK) 2f2 Frfteam w1 A R I R |

IR
(D) T HEER |
Vijay, a Computer Engineer, passed out
with 72% marks in the final examination

$2
™
ak

[N

at the age of 22 years in 2003. He
secured 70% marks in the Selection Test

and 48% marks in the Interview.
(A) Ifthe candidate is to be selected.

(B) Ifthe candidate is not1o be selected.
(C) If the case is to be referred to the

Data inadequate.

e

Chairman, Recruitment Committee,

SO PIVLATIYR
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Divya is a Computer Engineer with 80%
fnarks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) If the candidate is to be selected.
(B) If the candidate is not to be selected.
©) If the case is to be referred to the
(D) Data inadequate.

v 1 2fed w21 =1EC |
You are stationed as a police officer, an
agitated crowd at a local fair accuses a
teenager of theft and attempts mob
lynching. You should :
(A) use force to arrest the accused for

duress.
(D) let the mob punish the accused if
enough proof available.

115, 3ma v yfera sftd % &9 4 4 §,

iR e v Fera gl s
wq @ wfm w0 A Flt H Fad

S T Bl B | S
(A) T wfEm ® wfa @ &

fermriee et =fee |
®) dees @ A F fog P

ForE2 o st W =iy |
Waﬁimgﬁvm
e =i |
(D) T i wrEE W s

A ke i e #i afEa wE
=i |

Youarestmimednsapoliocoﬁiw,ym

receive reliable information of preparations

to violently disrupt upcoming local body

elections. You should :

(A) recommend postponing  the
electoral process.

(B) conduct preventive detentions 10
avoid subversion.

(C) mobilize auxiliary police
augmentation in vulnerable areas.

(D) ban political campaign events and

restrict assembly.

116, & it wg-wnfiie g A gferd ¥HE
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T =R |

As head of police in a riot-hit mixed

religious locality, you should :

(A) impose indefinite curfew tll
tensions subside.

(B) table concerns with municipal
authorities for resolution.

(C) act tough on miscreants crossing
community lines.

(D) engage elders to reconcile groups




el AL LY

et Wi wire wfe |
yYou are stationed as @ olice officer; 10
prevent i'unh‘cr c‘a‘scs of card cloning at
TMs, you should : 3 .
z\/\) lc?n;mr'mi]y. disable all ATMs in
the jurisdiction. :
(B) examine ATM machine access l0gs
for anomalies. ' 0
(C) place one observer each In all ATMs
10 identify SUspicious accomplices.
(D) purchase © cloning  machine
prototypes 1 understand methodology.
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You are an lnw_:stigalin& officer; the
primary. accused in a VI assassination
case 1§ offering huge bribes for
manipulating evidence and influencing
judges 1o ensure acquittal. You should :
(A) c‘ompl?' on records but secretly
callect dinlogue against accused.
(B) remain u_ncorru{) ed and present
. facts trinsparent K in court.
(C) pretend toagree but submit weakly
abricated bogus evidence.
(D) avoid investigating as per your
independent professional judgement.

AN AL A WY

o SN EERRATIVY S M EATY T PR Ve

(A) mwﬁammmw
mmﬁ@maﬁ(’{ﬂml

(B) T -;{ayﬁwammmm;
N . sl

i et @ weh e |
(C) A B i) e, AfFA FRIR LA
% i e ) e § O =g, |
| A0 G TR wfiy, #H
e e e % a8
e =i, |
You are a constable in a special cell that
deals with cyber crimes and online frauds.
You have been trained in various aspects
of cyber security and digital forensics.
However, due to a shortage of staff, you
are assigned to a patrol duty where you
have to patrol the: streets and respond to
emergency calls. You feel that this is 2

boring and mundane task that does not
suit your expertise, You should :

(A) refuse to do the patrol duty and
insist on staying in the cyber cell.

(B) do the patrol duty reluctantly and

complain about it to your superiors
and colleagues.

(C) do the patrol duty but constantly

look for opportunity of taking leave.

(D) do the patrol duty enthusiastically

and learn from the experiences of
other patrol officers.
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When investigating rape forensic As a police officer, you notice certain
evidence from victim, you shguld - religious minorities  being denied
(A) complete documentation  along neighbourhood entry. You should:
with FIR using pseudo-name. (A) amest and prosecute housing
personally interview the victim In societies flouting laws.
plain clothes to build trust. (B) refer complaints to state’s minority
(C) focus on Medical test ruthlessly welfare schemes.
without any women police present. (C) organize multi-faith community
) transfer to experienced Woman dialogues to ease tensions.
Inspector without qureet (D) enforce diversity by posting

involvement, minority community officers.

121, T e SftEE ¥ Sw W, 123, e afra ATl 3 T 3, FESE AR
s v e @ B o T F SadA It % A IefigT 3R
vy gor & 3 fifa g | S TR ¥ IeeE W1 AT B A

(A) witates s % fag g FQ E | TP :
fecdt 1 amrER Hiv =Ry | (A) =ewiian % fer fer-sfter gaeE
(B) Tw I % o 5@ & W T wREs! i gffaiE F = |
: 9§ FHa B IR | @) @ I=W W T JH W
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§U HHTER U =i | (e il 3 Res wed e
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In the climax stage of a nationwide terror As a police officer, transgender citizens
manhunt, you learn your only parent report facing harassment and dignity
suffers a debilitating stroke. You should : violations during law enforcement
(A) handover reins to accomplished interactions. You should :
deputy for family priority. (A) depute gender-rights community
(B) remotely coordinate certain areas volunteers for engagements.
without Ops leadership. (B) :gl.plcmem mass  sensitization
(C) conceal news avoiding distraction (©) tves on appropriate conduct.

till mission completion. :gg?;gf O?Ttrc‘;éedi“iplimf)' actions
R . rs.
(D) :::;:Lm; t;l?xiﬁldalr fOCUSt expecting (D) take complaint and forward it to
e .
PONPICTA Y .*.A.A-'o-'_,\'.‘:':.g\\i VAL ATY Y 0N ,»-.p'_as]:?x.\« AN P LTV Fa 0N PN Y ah “a Hu‘:rl-ax} nghts Commission.
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As a police officer, what would guide
your decision-making in enforcing l'.n\,"s ?
(A) Strict adherence 10 the letter of the
law, regardless of individual
circumstances.
Balancing legal requirements with
empathy and consideration for the
situation.
Following the orders of your
superiors without questioning their
judgment,
Applying personal moral values
even if they conflict with
established regulations.
t{asgfaauftmrﬂ%awii. T T
Frat 3 e gfere wy i frg e S
2 | et 3 & @i w38 Afaw
& o fera w2 w0 R 7

3 oo mfe o fesm *
e C .

(B)

(C)

(D)

(B)

(C)

(D)

125.
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(B) @dhet e
() ufera sl

(D) I9-HEEH
As a police officer, You are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

\(A) Station House ( )fficer
(B) Circle Officer
(C) Superintendent of Police
(D) Deputy Inspector General

FK-3

18

(B). \
fifa- 3 g AT e 4
mm@maﬂamn
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As a police officer, certain religious

customs  violate  Supreme Court
directions on entry of women in places

of worship. You should :

(A) enforce directions by removing
opposing groups if necessary.

(B) publicly threaten charges against
customs upholding court rulings.

(C) avoid the situation by taking
leaves.

(D) sensitize opinion leaders leveraging

spiritual heads' assistance.

127. mfaa(?)%s@mmmfamdﬁ \
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Find suitable alternative in place of
question mark (?).

(A) ©H®

AC) =i

(B)
(D)

Mother : Child : : Cloud : ?
(A)
(C)

Shine (B) Loud

Rain (D) Weather
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In the following question, some words
are given. They have some common
features except the odd one. You are
required to find odd one out.

(A) Annoy (B) Distress

(C) Harass (D) Ravage

129. f2u o fyeedt 8 & oy of Resg 3 I
’iemﬁwm‘zm:

Choose the correct alternative from given
ones that will complete the series

2.3, 15.9, 79.6, 423, 2574, (?)

5 (A) 5632 (B) 8432

s (C) 10300 (D) 18067

it

" 130, wr it Bz W § “MADRAS" #I
. “OWNHEQ" foran amm # | 3t g &

19 “SUNDAY™ %1 & feren e 7

2% ,ﬁn In a certain code language “MADRAS"”

>«¢'*7 is written as “OWNHEQ". How will

-

“SUNDAY" be written in that same code ?
(A) WUZRYX B) UWZRYW
(C) WUZWYR (D) UWZYWR

131. ™ I ¥ 7 fadl wer 8, T gz st
zrd 3 qea ® i 3 feft woam @ | =
e & vt @ iR g € i 7 fd
= g ® | 39 9 I e fag @
v o 2 7
(A) I (B)
5 (C) (D) dfeem

Shyam travels 7 km North, then he turns
to his right and walks 3 km. He again
turns to his right and moves 7 km
forward. Now in which direction is he
from his starting point ?

(A) North LB East
£ (C) South (D) West
<a~-- LAYV PN T . LAV A g
PE ¢

1)
Whe

134,

(€C) 130°

|
Py — Remh

5% Zq_. =
AN 5
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wié 2 | T % R wg # | oftee, 7 H
2% § | T, sftee Frag k| Afem, TRE
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Suresh's sister is the wife of Ram. Rarp
is Rani's brother. Ram's father 18
Madhur. Sheetal is Ram's grandmother.

Rema is Sheetal's daughter-in-law. Rohit
is Rani’s brother's son. How is Rohit

related to Suresh ?

(A) Brother-in-law (B) Son

(C) Brother
s SrIgAe :

({33 af 7=z “SPIRITUAL" & 7t 3fk w1

W w1 T wE § wge e R,
ol yer WY 3 B HEUH TH FE:
ared i A e @ wew e I R, @
v w7 § a6 feh AfEa & A=
It & s & (@ @ w1 98) ed
Firsf aofaren sjaen i ¥ 7

If in the word “SPIRITUAL”, position of
second and fifth letter is interchanged,
similarly position of fourth and sixth
letter is interchanged with seventh and
ninth letters respectively, then how many
pair of letters in the new word have as
many letters between them (cither
forward or backward) as they have in the
English alphabet series ?

(A) 3 ®) 4
€ $ (D) 6
U Wl QUE (noon) F T9E TE 6 A1l

R | 4 w9t 10 fire w, 92 1 gd i ah

it

A clock is started at noon. By 10 minutes

past 4, the hour hand has turned through

(A) 120° ol 125°
(D) 135°

(D) Ncphcw.?\ \u‘PLK AT

1
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Study the following figure and answer wem e ft R 7
the question given below. In a row Mihir is 17% from the left and
D" st =d / 19™ from the right, then what is the total
D\ Trained nurses number of candidates in that row ?
3/ ey O o awion (A) 29 ®) 31
rriod populetion 35 (D) 36
5/ 2 A—b e & 54 / \pr‘

Nurses in hospital —
: 139 7w & foreds s 4 x 3«3 WA E |

wea 7 & W gt f 7 Yy PR

A) i 48 I 4 x 3 % Pl Fo @ @ 3 @

&) - e # | I FAW 4 x 3 % i ew

(B) i st e o1 & 1t o | w3 x 3 % fawda

(©) e i faanfea = S R # vt g & | e vy w6 e

(D) Tranfya wfrfa +d W At 12 Al § e fova wwn & | @@
Wt‘sdey&ean?? et w1 & o o o Tt € 7

(A) Trained nurses There is a cuboid whose dimensions are

: (B) Unmarried trained nurses 4 x 3 x 3 cm. The opposite faces of

2! - . : : dimensions 4 x 3 are coloured yellow.

p \@/m:nm:m S Hospaal The opposite faces of other dimensions

(D) 'wn nuteee 4 x 3 are coloured red. The opposite

faces of dimensions 3 x 3 are coloured

136. Frefefias & 8 #1771 3@ W@, THE, green. Now the cuboid is cut into small
@tmmﬁﬂﬁ.ﬂ@mm cubes of side 1 cm. How many small
cubes have three faces coloured 7

27 '
) (A) 8 ®) 12 ﬁ
Which of the following diagrams best ) 16 (D) 20

‘ indicm the relation between India,
~ Gujarat, Surat ?

AT 140, Freiferfra we # e wrez o man &, 3%

arz wR 34 e e o &, e & o R

e Tz % AR % ITAW HRH AT A

waar d TR E |

In the following question, a word has

been given, followed by four other

words, one of which can be formed using

the letters of the given word. Find that

word.

MEASUREMENT

(A) ASSURE (B) SUMMIT
TUNES (D) MANTLE

Vo ~A e W NS GPARATINN § TV e T § NN DI A W AN SIS T W
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(3) mmzmmm%' i :ﬂmmﬂg%;m,ahmmé
(4) zﬂmaim?@’tziaﬁmanmtl M?ﬂmmwm

2 [ W FaaEE R |
m.ﬁ@ﬁﬁmﬁiﬂma,w o mwﬁmaﬂﬁ;ﬂﬁaﬁmzl

3 waivrarren ¥ feru = W TR IS I, wmmﬁmnﬁfaﬁxﬁ
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A scientist is trying to recall the access (©) lWIIﬁ:ﬂWmil

code to a secure laboratory. He L)D)/'la»ﬂ'{llliﬁﬁm FAE |

In the question below two statements
followed by three conclusions numbered

remembers the following details :

(1) The code starts with the digit 5. I, 1 and 11l a}'e givcn. You have to
assume everything in the statements 10

(2) The code ends with 987, be true, then consider the three
conclusions together and decide which of

(3) The second digit is the sum of the them logically follows beyond a

reasonable doubt from the information

first digit and 3. given in the statements.
s SN s Statements :
(4) The third digit is half of the second I.  Water has no shape, has volume.
digit. II. The knowledge is like water,
flowed from one side to other.
Now, considering these conditions, the Conclusions :
234 I.  The knowledge is interdisciplinary
: ; od down fi et
scientist has narrowe o II. The knowledge is bound within &

potential access codes for the laboratory. specific area.
IIl.  The knowledge influences the core

i e suitable one. ivi
Find the suitable ¢ of mental activity directly.

O~ (A) Only conclusion I follows
42987 584987 jon 1 follOWS.
(A) . 2 ABJ 9842 ((1(3:; Only conclusion 11 follows.
C) 563987 (D) 548987 Both I and 11 follow.
= \(, 4)«“;"'\1?\-’\""- AN POV YN Ax-,-,v\:,\r'v(. PON PN POX POVLN TR A (B).. lSOth l and "l fo“(“v.
u 2] LA S AR A BRI TWY L AN L A A "l;K--3

4
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Choose the alternative which closely

mble;ottll\'e mirror image of the given

BR4AQIG6HI

UA,)/H’?IQAMIG
(8) THGIQAbSIE
(C) 1HAIQARSAH
(D) THIIOAMAE

144, v omd 6 S () # fow ozt @
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father. E"ﬁ.D's mother.
relatedto D2

(A) Grand mother
(B) Grand father

(C) Daughter
(D) Grand daughte ?

147, et & 21 @ fawes 9 Remw
W} AT e 7
. 9%H 2. W@
3. fam, 4. R
5. %M. '
Which of the following option would be
meaningful order of the following words ?
1.  Exhaust 2. Night
3. Day 4. Sleep
5. Work

(A) 1,3,5,4,2_(By 5,51,2,4
" (©) 3,51,42 (D) 35554
148, BT RFAIB=R
Choose the figure which is different from
the rest. >
HDUJDUKHUE
UCCHUDJBJ“
) @) k3B @ O
(1) ®) @ 2
© 6 ®) @ :
@ 2wt 7 A6 # g WA AT R
et & | A 2t o U F At A oAt
R, A A ww et wh o 2
(A) 38 (B) 47z
(C) 55fme 59 fre

The number of apples in a basket
doubles every minute, If the basket is full
of apples in an hour, when was the
basket half-filled ?

e

149.

(A) 38 minutes (B) 47 minutes
(C) 55 minutes (D) 59 minutes
{2 1
150. A HL: 108 +36 % — + — x 3—
4 . 5 5=
Simplify: 108436 x & + 2 x. 3%
4 5 -4
I ]
A) “1— 22—
@) 20 20
© 24 ®) 2%
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